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Calibration With Pass3 Output

● R0 calibrated for each subrun using track momentum and result from 
RICH Seed Fit.
● Several results are unusually low.  Otherwise R0 is consistently near 30 
cm over the entire data set.
● Gap between 15000 – 16000 due to corrupted output file.  Need to rerun.



Variation With RICH CO2 Density

Right: Zoomed in View.
There appear to be three different 
bands

Right: Zoomed in View.
There appear to be three different 
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Left: R0 vs. ratio of CO2 density to 
STP density.
I expect to see a positive 
correlation.  The results look quite 
flat.



Closer Look At Anomalous Results

Left: Run 11385 Subrun 1

Right: Run 12401 Subrun 1

Results from fits do not match 
data points.



Re-running Gives Different Results

Right: Result for Run 12503 Subrun 0 
when running individually.  Fit is 
much better in this case.   Re-runnig 
does not always improve the fit.

Left: Result for Run 12503 Subrun 0 
when running with set of pass3 
output files.  

Re-running individually gives 
different yet consistent results.  


